VWENCERL wwwencericon

PRODUCT
CATALOGUE

. 86-0576-86970099 ‘
Bd echo@wencerl.com ) E... |
@ www.wencerl.com I _.; .. '
Q@ Qianyangxia Village, Wengqgiao ' T
Town, Wenling City, Zhejiang
TIRARY | LB TIRY I TINFRY [EINMART | USRS Province, the PRC

Insert series | End mill serles | Holder serie | Frecision automatic serles | U drill series

78 \WENCERL




Uss (U-Drill)
WCH! % FL55/U%k 2D WC tyge U-drill 2D

y 9
! .:%“\\
£4 &1 i% & (Drilling depth): 2xD
5
0 al
= N
|
L1
- i/@;
1] = =l
Specificiﬁc?%?aﬁd model D d L1 Ls L Ingﬁ%c-:jel S%fr?w Vj{iﬁ:h go?cik
C20-2D15-33WC03 15 33 92 §
C20-2D15.5-34WC03 15.5 34 93 =
C20-2D16-35WC03 16 | 20 | 35 | 44 | 94 WC__030208 | M2.5x5 | T8
©20-2D16.5-36WC03 16.5 36 95
C20-2D17-37WC03 17 37 | D —
C25-2D17.5-38WC03 17.5 38 109 (<
C25-2D18-39WC03 18 39 | 110
C25-2D18.5-40WC03 18.5 40 | BERE
C25-2D19-41WC03 19 | 25 | 41 | 56 | 112 WC__030208 | M2.5x6 | T8 5
C25-2D19.5-42WC03 19.5 42 113 ==
C25-2D20-43WC03 20 43 114
C25-2D20.5-44WC03 20.5 44 115
C25-2D21-45WC04 21 45 116
C25-2D21.5-46WC04 21.5 46 117 @
C25-2D22-47WC04 22 47 118 o
C25-2D22.5-48WC04 225 48 119
WC__040208 |M2.5x7D| T8
C25-2D23-49WC04 23 | 25 | 49 | 56 | 123
©25-2D23.5-50WC04 23.5 50 | 124
C25-2D24-51WC04 24 51 | 125
C25-2D24.5-52WC04 24.5 52 | 126 J
C25-2D25-53WC05 25 53 127
C32-2D25.5-54WC05 25.5 54 134
©32-2D26-55WC05 26 55 135
C32-2D26.5-56WC05 26.5 56 136 A
C32-2D27-57WCO05 27 57 137 &
C32-2D27.5-58WC05 27.5 58 138
WC__050308 M3x7 | Ti0
C32-2D28-59WCO05 28 | 32 | 59 | 60 | 139
C32-2D28.5-60WC05 28.5 60 140
‘ C32-2D29-62WC05 29 62 143
- C32-2D29.5-63WC05 29.5 | 63 | 144
I ' C32-2D30-64WCO05 30 64 | 148
Uiﬁg;] C32-2D30.5-65WC05 305 | | 65 | | 149
: : ©32-2D31-66WC06 31 66 | 150
U dfl” Series C32-2D31.5-67WC06 31.5 67 151
C32-2D32-68WC06 32 68 152
32 60 WC__06T308 | M3.5x8 | Ti5
C32-2D32.5-69WC06 32.5 69 153
©32-2D33-70WC06 33 70 154
©32-2D33.5-71WC06 33.5 71 155




Uss (U-Drill) U (U-Drill)
J % FLEh/Uh ' % FLEE/USh '
Bl \WCE! % 7L /UL 2D WC tyge U-drill WCH! % 7. 55 /U4 3D WC tyge U-drill 3D
St Y
| h%: | “?é
S5 8RB (Drilling depth): 2xD 41 E(Drilling depth): 3xD
. :
of I fiQ“u! / ‘ al b ~ . .
= e S T R S - o e B e e S trmsmesamaT 1=
@y . l / S . 2 N
L 4
L1 ‘ L1
2 Ls N L2 Ls
|
MBS TIRBE ET wF |EF HMIRE S R8s HRET HF |ERE
Specification and model D d | L1] Ls L Insert model Screw | Wrench |Stock Specification and model| - Aok ks L Insert model Screw | Wrench |Stock
C32-2D34-72WC06 34 72 156 C20-3D15-48WC03 15 48 107
C32-2D34.5-73WC06 34.5 73 157 C20-3D15.5-50WC03 15.5 50 109
Sa5_ 305 7AWCDE 35 = 58 ©20-3D16-51WC03 16 | 20 | 51 | 44 [ 110 WC__030208 | M2.5x5 | T8
e o - — C20-3D16.5-53WC03 16.5 53 112
e L " = = C20-3D17-54WC03 17 54 113
. C25-3D17.5-56WC03 17.5 56 127
C32-2D36.5-77WC06 36.5 77 161
a0 60 T LI ] g— C25-3D18-57WC03 18 57 128
€32-2D37-79WC06 37 79 169 C25-3D18.5-59WC03 18.5 59 130
C32-2D37.5-80WC06 37.5 80 170 €25-3D19-60WC03 19 | 25 | 60 | 56 | 131 WC__030208 | M2.5x6 | T8
C32-2D38-81WC06 38 81 171 C25-3D19.5-62WC03 19.5 62 133 @
C32-2D38.5-82WC06 38.5 82 172 €25-3D20-63WC03 20 63 134
T — 39 - — €25-3D20.5-65WC03 20.5 65 136
C25-3D21-66WC04 21 66 137
C32-2D39.5-84WC06 39.5 84 174
C25-3D21.5-68WC04 21.5 68 139
o C40-2D40-85WC06 40 85 185 PR hod riia P — —
C40-2D41-87WC06 4 87 187 C25-3D22.5-71WC04 22.5 71 142 WC. 040208 |m2sx70l T
C40-2D42-89WC08 42 89 189 C25-3D23-72WC04 23 | 25 | 72 | 56 | 146 - A
C40-2D43-91WC08 43 91 191 ©25-3D23.5-74WC04 23.5 74 148
C40-2D44-93WC08 44 40 | 93 | 70 | 193 C25-3D24-75WC04 24 75 149
P i Wios P s T8 C25-3D24.5-77WC04 24.5 | 7 151
C40-2D46-97WC08 46 o7 197 SEE R UMD > 3 152
i Shi SO0 e = = C32-3D25.5-80WC05 25.5 80 160
- ~99WC08 C32-3D26-81WC05 26 81 161
M C40-2D48-101WC08 48 101 201 WC__080412 | M4x10 | T15 C32-3D26.5-83WC05 26.5 83 163 M
C40-2D49-103WCO08 49 103 203 C32-3D27-84WGC05 o7 84 164
C40-2D50-105WC08 50 105 205 ©32-3D27.5-86WC05 27.5 86 166
WC__050308 M3x7 | Ti0
C40-2D51-107WC08 51 107 207 C32-3D28-8B7WC05 28 | 32 | 87 | 60 | 167
C40-2D52-109WC08 52 109 209 C32-3D28.5-89WCD05 28.5 89 169
C40-2D53-111WC08 53 111 211 S s AL = al 172
T T = o — ©32-3D29.5-93WC05 29.5 93 174
= = 40 70 €32-3D30-94WCO05 30 94 178
Bal s B s 215 C32-3D30.5-96WC05 30.5 96 180
C40-2D56-120WC08 56 120 222 C32-3D31-97WCD6 31 | o7 181
C40-2D57-122WC08 57 122 224 €32-3D31.5-99WC06 31.5 99 183
_2D58- C32-3D32-100WC06 32 100 184
C40-2D58-124WC08 58 124 226 - | 6o i msiee. | mamems
C40-2D59-126WC08 59 126 208 C32-3D32.5-102WC06 32.5 102 | 186
C40-2D60-128WC08 60 128 230 L2 B e L 8 187
C32-3D33.5-105WC06 33.5 105 189




U%S (U-Drill)
WCE! % 7L&5/U%L 3D WC tyge U-drill 3D

5L HE B (Drilling depth): 3xD

U%s (U-Drill)
WCEH! % FL&5/U%E 4D WC tyge U-drill 4D

(R HE E(Drilling depth): 4xD

al b= i, 0 1 | o— Y
-e-L@ . ﬁ\‘“ii#i‘ k =3
L1 |
L2 | Ls
L
= =
Specific*aﬂt%?afd model D d L1 Ls E Ingﬁ%cﬁel Sifr?w Wﬂrieﬁ:h Sj%oﬁ
C32-3D34-106WC06 34 106 190
C32-3D34.5-108WC06 34.5 108 102
C32-3D35-109WC06 35 109 193
C32-3D35.5-111WC06 35.5 111 195
C32-3D36-112WC06 36 112 196
C32-3D36.5-114WC06 36.5 114 108
C32-3D37-116WC06 a7 | 2 [176 | % [a06 | WC_06T308 | M3.5x8 | T15
C32-3D37.5-118WC06 37.5 118 208
C32-3D38-119WC06 38 119 209
C32-3D38.5-121WC06 38.5 121 211
C32-3D39-122WC06 39 122 212
C32-3D39.5-124WC06 39.5 124 214
C40-3D40-125WC06 40 125 225
C40-3D41-128WC06 41 128 228
C40-3D42-131WC08 42 131 231
C40-3D43-134WC08 43 134 234
C40-3D44-137WC08 a4 | 40 | 137 | 70 | 237
C40-3D45-140WC08 45 140 240
C40-3D46-143WC08 46 143 243
C40-3D47-146WCO8 47 146 246
C40-3D48-149WC08 48 149 248 | we meorte | mesie | T
= C40-3D49-152WC08 49 152 252
C40-3D50-155WC08 50 155 255
C40-3D51-158WC08 51 158 258
C40-3D52-161WC08 52 161 261
C40-3D53-164WC08 53 164 264
C40-3D54—167WC08 54 167 267
C40-3D55-170WC08 s5 | 0 [q70] ° [270
C40-3D56-176WC08 56 176 278
C40-3D57-179WC08 57 179 281
C40-3D58-182WC08 58 182 284
C40-3D59-185WC08 59 185 287
C40-3D60-188WC08 60 188 290

al (o . ( ! ©
R e | 1=
& T =
L1
‘ L2 Ls
] =2 =
Specific%%?a?dmodel 2 HOR| s L Ingﬁﬁ%cﬁiel S%?w V\ﬁieﬁ:h SEtcfk
C20-4D15-63WC03 15 63 122
C20-4D15.5-65WC03 15.5 65 124
C20-4D16-67WC03 16 | 20 | 67 | 44 | 126 WC__030208 | M2.5x5| T8
C20-4D16.5-69WC03 16.5 69 128
C20-4D17-71WC03 17 71 130
€25-4D17.5-73WC03 17.5 73 144
C25-4D18-75WC03 18 75 146
C25-4D18.5-77WC03 18.5 a2 148
C25-4D19-79WC03 19 | 25 [ 79 | 56 | 150 WC__ 030208 | M2.5x6| T8
C25-4D19.5-81WC03 19.5 81 152
C25-4D20-83WC03 20 83 154
C25-4D20.5-85WC03 20.5 85 156
C25-4D21-87WC04 21 87 158
C25-4D21.5-89WC04 21.5 89 160
C25-4D22-91WC04 22 91 162
C25-4D22.5-93WC04 22.5 93 164
WC__040208 | M2.5x7D| T8
C25-4D23-95WC04 23 | 25 | 95 | 56 | 169
C25-4D23.5-97WC04 23.5 97 171
C25-4D24-99WC04 24 99 173
C25-4D24.5-101WC04 24.5 101 175
C25-4D25-103WC05 25 103 177
©32-4D25.5-105WCO05 25.5 105 185
C32-4D26-107WC05 26 107 187
C32-4D26.5-109WC05 26.5 109 189
C32-4D27-111WC05 27 111 191
©32-4D27.5-113WC05 27.5 113 193
WC__050308 M3 x7 T10
C32-4D28-115WC05 28 | 32 | 115 | 60 | 195
©32-4D28.5-117WC05 28.5 17 197
©32-4D29-120WC05 29 120 201
©32-4D29.5-122WC05 29.5 122 203
©32-4D30-124WC05 30 124 208
C32-4D30.5-126WC05 30.5 126 210
C32-4D31-128WC06 31 | 128 212
©32-4D31.5-130WC06 31.5 130 214
C32-4D32-132WC06 2 | o |132] | 216 WG 067308 | masxa | T1s
C32-4D32.5-134WC06 32.5 134 218 =
©32-4D33-136WC06 33 136 | 220
©32-4D33.5-138WC06 33.5 138 | 222




U%s (U-Drill)
WCH! % 7L §4/U%E 4D WC tyge U-drill 4D

5L H1E B (Drilling depth): 4xD

U5 (U-Drill)
WCHI % 7L 55/U%E 5D WC tyge U-drill 5D

R HE E(Drilling depth): 5xD

‘_o == e ] JI ©
| or— ¥ k =

L1 |

L2 Ls

= =

Specific*aﬂt%?afd model D d L1 Ls E Ingﬁ%cﬁel Sifr?w Wﬂrieﬁ:h Sj%oﬁ
C32-4D34-140WC06 34 140 224
C32-4D34.5-142WC06 34.5 142 226
C32-4D35-144WC06 35 144 228
C32-4D35.5-146WC06 35.5 146 230
C32-4D36-148WC06 36 148 232
C32-4D36.5-150WC06 36.5 150 236
C32-4D37-153WC06 a7 | % [1s3 | ® [pa3 | WC_06T308 | M3.5x8| Ti5
C32-4D37.5-155WC06 37.5 155 245
C32-4D38-157WC06 38 157 247
C32-4D38.5-159WC06 38.5 159 249
C32-4D39-161WC06 39 161 251
C32-4D39.5-163WC06 39.5 163 253
C40-4D40-165WC06 40 165 265
C40-4D41-169WC06 41 169 269
C40-4D42-173WC08 42 173 273
C40-4D43-177WC08 43 177 277
C40-4D44—181WC08 as | 40 | 181 | 70 | 281
C40-4D45-185WC08 45 185 285
C40-4D46-189WCO8 46 189 289
C40-4D47-193WC08 47 193 293
C40-4D48-197WC08 48 197 297 | we meowte | muwsie | T
C40-4D49-201WC08 49 201 301
C40-4D50-205WC08 50 205 305
C40-4D51-209WC08 51 209 309
C40-4D52-213WC08 52 213 313
C40-4D53-217WC08 53 217 317
C40-4D54-221WC08 54 221 321
C40-4D55-225WC08 55 | 0 [225 | ° [ a2s
C40-4D56-232WC08 56 232 334
C40-4D57-236WC08 57 236 338
C40-4D58-240WC08 58 240 342
C40-4D59-244WC08 59 244 346
C40-4DB0-248WC08 60 248 350

2[9;; _________ - *_-3___‘_::
S
L1 ]
L2 ‘
L
1] =2 =
Specific%%r%?dmodel D d L1 Ls L Ingﬁ%cﬁiel Sifr?w V\ﬁieih S%cfk
C20-5D16-83WC03 16 83 142
C20-5D16.5-86WC03 165 | 20 | 86 | 44 | 145 WC__030208 | M2.5x5| T8
C20-5D17-88WC03 17 88 147
C25-5D17.5-91WC03 17.5 91 150
C25-5D18-93WC03 18 93 152
C25-5D18.5-96WC03 18.5 96 155
C25-5D19-98WC03 19 | 25 | 98 | 56 | 157 WC__030208 | M2.5x6| T8
C25-5D19.5-101WC03 19.5 101 160
C25-5D20-103WC03 20 103 162 @
C25-5D20.5-106WC03 20.5 106 165
C25-5D21-108WC04 21 108 167
C25-5D21.5-111WC04 21.5 111 170
C25-5D22-113WC04 22 113 172
C25-5D22.5-116WC04 22.5 116 175
WC__040208 | M2.5x7D| T8
C25-5D23-118WC04 23 | 25 | 118 | 56 | 180
C25-5D23.5-121WC04 235 121 183
C25-5D24—123WC04 24 123 185
C25-5D24.5-126WC04 245 126 188
C25-5D25-128WC05 25 128 190
C32-5D25.5-131WC05 25.5 134 213
C32-5D26-133WC05 26 133 216
C32-5D26.5-136WC05 26.5 136 217
C32-5D27-138WCO05 27 138 218 M
C32-5D27.5-141WC05 27.5 141 221
C32-5D28-143WC05 8 | 42 [M48 | G0 | eza | 000908 | Maskr [ TIO
C32-5D28.5-146WC05 28.5 146 226
C32-5D29-149WC05 29 149 230
C32-5D29.5-151WC05 29.5 151 | 233
C32-5D30-154WC05 30 154 238
C32-5D30.5-157WC05 30.5 157 241
C32-5D31-159WC06 31 159 243
C32-5D31.5-162WC06 31.5 162 245
C32-5D32-164WC06 32 164 248
C32-5D32.5-167WC06 325 | 32 | 167 | 60 | 251 WC__06T308 | M3.5x8 | Ti5
C32-5D33-169WC06 33 169 | 253
C32-5D33.5-172WC06 33.5 172 | 255
€32-5D34-174WC06 34 174 | 258




Uss (U-Drill) U (U-Drill)
Y% FLES/USh ' I % L35/ U% '
Bl WCE! % 7L &5/U%L 5D WC tyge U-drill 5D SPRIXZFLEL/USL 2D SPtyge U-drill 2D
St Y
“):” r@
S5 8RB (Drilling depth): 5xD £ 41 E (Drilling depth): 2xD
/ >\ o
/ &
HEEE e 25 | BT |ERE AEES NHBE BT | WF | EfF
Specification and model g ) E ks - Insert model Screw | Wrench |Stock Specification and mode| g d L L8 L Insert model Screw | Wrench |Stock
C32-5D34.5-177WC06 34.5 177 261 C20-2D13-29SP05 13 29 88
C32-5D35-179WC06 35 179 263 C20-2D13.5-305P05 13.5 30 89
35 FOSE G lRANCDE m— m— m— C20-2D14-31SP05 14 | 20 | 31| 44 | 90 SP__050204 M2 x 4 T6
TR = oo > C20-2D14.5-32SP05 14.5 32 91
it C20-2D15-33SP05 15 33 92
C32-5D36.5-187WC06 36.5 187 271 Co0.5015 E-345P08 e o a5
C32-5D37-190WC06 37 32 | 190 | 60 280 C20-2D16-35SP06 16 a5 35 94
. . ‘ - 44
C32-5D37.5-193WC06 37.5 193 283 WC__06T308 | M3.5x8 | T15 C20-2D16.5-36SP06 16.5 36 95
C32-5D38-195WC06 38 195 285 €20-2D17-375P06 17 37 96 @
C32-5D38.5-198WC06 38.5 198 288 feae WD 0R i 26 L
C25-2D18-39SP06 18 39 110
C32-5D39-200WC06 & 200 290 C25-2D18.5-40SP06 18.5 40 111 SP__ 060204 M2.2x5 | T7
C32-5D39.5-203WC06 39.5 203 293 Co5-2D10-415P06 T8 ) ¥in
C40-5D40-205WC06 40 205 305 C25-2D19.5-425P06 195 | 25 | 42 | 56 | 113
= C40-5D41-210WC06 41 210 310 C25-2D20-43SP06 20 43 114
C40-5D43-225WC08 43 225 320 il B = ‘i Lo
C25-2D21.5-46SP06 215 46 117
C40-5D44-230WC08 4 |20 | ses T — 2 -
il e ik 15 225 i C25-2D22.5-48SP07 22.5 48 119
C40-5D46-240WC08 46 240 335 C25-2D23-49SP07 23 49 123
C40-5D47-245WC08 47 245 340 C25-2D23.5-50SP07 235 | 25 | 50 | 56 | 124
C40-5D48-250WC08 48 250 345 C25-2D24-51SP07 24 51 125
C25-2D24.5-525P07 24.5 52 126
M C40-5D49-255WC08 49 255 350 SP__07T308 | M2.5 M
C25-2D25-535P07 25 53 127 o =8| I8
C40-5D50-260WC08 50 iian 355 C32-2D25.5-54SP07 25.5 54 134
C40-5D51-265WC08 51 265 360 WC__080412 M4 x10 T15 C32-2D26-55SP07 26 55 135
C40-5D52-270WC08 52 270 365 C32-2D26.5-56SP07 265 | 32 | 56 | 60 | 136
C40-5D53-275WC08 53 275 370 C32-2D27-575P07 27 57 137
CAl-EDEI-280WC00 = pre e C32-2D27.5-58SP07 27.5 58 138
C32-2D28-59SP09 28 59 139
C40-5D55-285WC08 55 | 40 | 285 | 70 | 380
€32-2D28.5-60SP09 28.5 60 140
C40-5D56-290WC08 56 290 385 TR 29 o2 143
C40-5D57-295WC08 57 295 390 €32-2D29.5-63SP09 29.5 63 144
32 60 SP__090408 M3.5x8 | T15
C40-5D58-300WC08 58 300 395 C32-2D30-64SP09 30 64 148
C40-5D59-305WC08 59 305 400 C32-2D30.5-655P09 30.5 65 149
C40-5D60-310WC08 60 310 405 ZimiEniiiiein = o L
€32-2D31.5-67SP09 315 67 151




U#d (U-Drill) Uss (U-Drill)
N S PBY % 755/ U%E 2D SP tyge U-drill 2D SPE!Z FL35/U%s 3D SP tyge U-drill 3D |
g g
| o | .- o
54 8% EE(Drilling depth): 2xD £ 8% B (Drilling depth): 3xD
o
=
- HgES D d | el s L NS 1247 WFE | EF - HRgBES D al il s L TNR#S 1247 wFE EE
Specification and model Insert model Screw | Wrench |Stock Specification and model Insert model Screw | Wrench |Stock
C32-2D32-68SP09 32 68 152 C20-3D13-428P05 13 42 101
C32-2D33-70SP09 33 70 154 - x -45SP05 i ] x
C32-2D33.5-71SP09 33.5 71 155 C20-3D14.5-47SP05 14.5 47 106
C32-2D34-72SP11 34 72 156 C20-3D15-48SP05 15 48 107
C32-2D34.5-73SP11 34.5 73 157 C20-3D15.5-505P06 15.5 50 109
C32-2D35-74SP11 35 74 158 C20-3D16-51SP06 16 a5 | 51 5 110
C32-2D35.5-75SP11 35.5 75 159 C20-3D16.5-535P06 16.5 53 112
C32-2D36-76SP11 36 76 160 C20-3D17-545P06 17 54 113 @
C32-2D36.5-77SP11 36.5 77 161 C25-3D17.5-565P06 17.5 56 127
C32-2D37-79SP11 a7 | 2 [79 | *° [1ee S B 14 =1 128
C55_5037 E_80SP 11 375 20 170 SP__110408 | Mdx10 [ T15 C25-3D18.5-59SP06 18.5 59 130 SP__ 060204 | M2.2x5| T7
C32-2D38-81SP11 38 81 171 C25-3D19-605P06 = o8 131
C32-2D38.5-82SP11 38.5 82 172 222‘2223'56‘35:::606 1;')5 L 22 A :22
C32-2D39-83SP11 39 83 173
C82-2D39.5-84SP11 39.5 84 174 222:2222;56—66855:606 2201.5 22 :2§
e i 40 = 185 C25-3D21.5-68SP06 215 68 139
C40-2D41-87SP11 41 87 187 a5 aDa3B95P07 2 o a0
D- 2 e 0PRF1 i = s C25-3D22.5-71SP07 22.5 2R 142
C40-2D43-91SP14 43 91 191 C25-3D95-725P07 o N —
Le e s | 2 - C25-3D23.5-743P07 235 | 25 | 74 | 56 | 148
C40-2D45-95SP14 45 | 40 | 95 | 70 | 195 S RTRTT T . = 140
M g:g:zgz:::g:: :i z; 12; E_.140812 Ll L C25-3D24.5-77SP07 24.5 77 151 P 077308 S— - M
C25-3D25-78SP07 25 78 152 e
LAl COAR-I01S 12 48 L =0 C32-3D25.5-80SP07 255 80 160
C40-2D49-103SP14 49 103 203 F e mmer coere 26 = —
C40-2D50-1055P14 58 L 205 C32-3D26.5-83SP07 265 | 32 | 83 | 60 | 163
C40-2D51-107SP09 51 107 207 C32-3D27-B4SPO7 o7 1 164
C40-2D52-109SP09 52 109 209 C32-3D27.5-865P07 275 86 166
C40-2D53-111SP09 53 111 211 C32-3D28-87SP09 8 a7 167
C40-2D54-1135P09 54 113 213 C32-3D28.5-89SP09 28.5 89 169
C40-2D55-1155P09 55 40 115 4 215 SP__ 090408 NS Bk g C32-3D29-91SP09 29 91 172
C40-2D56-1205P09 56 120 222 C32-3D29.5-93SP09 29.5 a0 93 50 174 A Masxs | T1s
C40-2D57-122SP09 57 122 224 C32-3D30-94SP09 30 94 178 s )
C40-2D58-124SP09 58 124 226 ©32-3D30.5-965P09 30.5 96 180
C40-2D59-126SP09 59 126 228 ©32-3D31-97SP09 31 97 181
C40-2D60-128SP09 60 128 230 €32-3D31.5-99SP09 31.5 99 183




U%s (U-Drill)
SPHEIZK FL55/U%ES 3D SPtyge U-drill 3D

5L HE B (Drilling depth): 3xD

U%d (U-Drill)
SPEIER FL55/UsL 4D SPtyge U-drill 4D

(R HE E(Drilling depth): 4xD

= =
Specific*aﬂt%?afd model D d L1 Ls E lngﬁ%c—%el Sﬁfr?w Wﬂrieﬁ:h Sj%oﬁ(
C32-3D32-100SP09 32 100 184
C32-3D32.5-102SP09 32.5 102 186
32 60 SP__090408 M3.5x8 | T15
C32-3D33-103SP09 33 103 187
C32-3D33.5-105SP09 33.5 105 189
C32-3D34-106SP11 34 106 190
C32-3D34.5-108SP11 34.5 108 192
C32-3D35-109SP11 35 109 193
C32-3D35.5-111SP11 35.5 111 195
C32-3D36-112SP11 36 112 196
C32-3D36.5-1148P11 365 | [ 114] | 198
C32-3D37-116SP11 37 116 206 T Ty e
C32-3D37.5-118SP11 37.5 118 207 -
C32-3D38-119SP11 38 119 209
C32-3D38.5-121SP11 38.5 121 211
C32-3D39-122S8P11 39 122 212
C32-3D39.5-124SP11 39.5 124 214
C40-3D40-125SP11 40 125 225
C40-3D41-128SP11 41 128 228
C40-3D42-131SP14 42 131 231
C40-3D43-134SP14 43 134 234
C40-3D44-137SP14 44 137 237
C40-3D45-140SP14 45 | 40 | 140 | 70 | 240
C40-3D46-143SP14 46 143 243 SP__140512 M5x11 | T20
@ffffﬁ C40-3D47-1465P14 47 146 246
C40-3D48-149SP14 48 149 249
C40-3D49-152SP14 49 152 252
C40-3D50-1558P14 50 155 255
C40-3D51-158SP09 51 158 258
C40-3D52-161SP09 52 161 261
C40-3D53-164SP09 53 164 264
C40-3D54-167SP09 54 167 267
C40-3D55-170SP09 55 170 270
40 70 SP__090408 M3.5x8 | T15
C40-3D56-173SP09 56 176 278
C40-3D57-179SP09 57 179 281
C40-3D58-182SP09 58 182 284
C40-3D59-185SP09 59 185 287
C40-3D60-188SP09 60 188 290

] =2 =
Specific%%?;dmodel U d e L Inz?eﬁ%giel S%?w V\ﬁieﬁ:h s’iﬁ
C20-4D13-55SP05 13 55 114
C20-4D13.5-57SP05 13.5 57 116
C20-4D14-59SP05 14 20 | 59 | 44 @ 118 SP__050204 M2 x 4 T6
C20-4D14.5-61SP05 14.5 61 120
C20-4D15-63SP05 15 63 122
C20-4D15.5-65SP06 15.5 65 124
C20-4D16-67SP06 16 o5 |87 | 44 [ 126
C20-4D16.5-69SP06 16.5 69 128
C20-4D17-71SP06 17 71 130
C25-4D17.5-73SP06 17.5 73 144
C25-4D18-755P06 18 75 146
C25-4D18.5-77SP06 18.5 77 148 SP__ 060204 M2.2 x5 T7
C25-4D19-79SP06 19 79 150
C25-4D19.5-81SP06 195 | 25 | 81 | 56 @ 152
C25-4D20-83SP06 20 83 154
C25-4D20.5-858P06 20.5 85 156
C25-4D21-87SP06 21 87 158
C25-4D21.5-89SP06 21.5 89 160
C25-4D22-91SP07 22 91 162
C25-4D22.5-938P07 22,5 93 164
C25-4D23-955P07 23 95 169
C25-4D23.5-97SP07 235 | 25 | 97 | 586 @ 171
C25-4D24-99SP07 24 99 173
C25-4D24.5-101SP07 24.5 101 175 SP 077308 S— -
C25-4D25-103SP0O7 25 103 177 o
C32-4D25.5-105SP07 25.5 105 185
C32-4D26-107SP07 26 107 187
C32-4D26.5-109S5P07 26.5 32 109 60 189
C32-4D27-111SP07 27 111 191
C32-4D27.5-113S5P07 27.5 113 193
C32-4D28-1155P09 28 115 195
C32-4D28.5-117SP09 28.5 117 197
C32-4D29-120SP09 29 120 201
C32-4D29.5-122SP09 29.5 122 203

32 60 SP__090408 M3.5x8 | T15
C32-4D30-124SP09 30 124 208
C32-4D30.5-126SP09 30.5 126 210
C32-4D31-128SP09 31 128 212
€32-4D31.5-130SP09 31.5 130 214




U%ds (U-Drill)
SPEIEZ FL55/USL 4D SPtyge U-drill 4D

5L H1E B (Drilling depth): 4xD

U%d (U-Drill)
SPHI % 7L55/U%s 5D SPtyge U-drill 5D

R HE E(Drilling depth): 5xD

1
- o
-
Ls
= =3
Specific*aﬂt%r%!afd model D d L1 Ls L lngﬁ%c—%el Sﬁfr?w Wﬂrieﬁ:h Sj%oﬁ(
C32-4D32-1325P09 32 132 216
C32-4D32.5-134SP09 32.5 134 218
32 60 SP__090408 | M3.5x8 | Ti5
C32-4D33-136SP09 33 136 220
C32-4D33.5-138SP09 33.5 138 222
C32-4D34-140SP11 34 140 224
C32-4D34.5-142SP11 34.5 142 226
C32-4D35-144SP11 35 144 228
C32-4D35.5-146SP11 35.5 146 230
C32-4D36-148SP11 36 148 232
C32-4D36.5-150SP11 35| . [150] [ 234
C32-4D37-152SP11 37 153 243
C32-4D37.5-1558P11 37.5 155 245 SELA00s | Maeld | TB
C32-4D38-157SP11 38 157 247
C32-4D38.5-159SP11 38.5 159 249
C32-4D39-161SP11 39 161 251
C32-4D39.5-163SP11 39.5 163 253
C40-4D40-165SP11 40 165 265
C40-4D41-169SP11 41 169 269
C40-4D42-173SP14 42 173 273
C40-4D43-177SP14 43 177 277
C40-4D44-181SP14 44 181 281
C40-4D45-185SP14 45 | 40 | 185 | 70 | 285
C40-4D46-189SP14 46 189 289 SP__140512 M5x11 | T20
@ffffﬁ C40-4D47-193SP14 47 193 203
C40-4D48-197SP14 48 197 297
C40-4D49-201SP14 49 201 301
C40-4D50-2055P14 50 205 305
C40-4D51-209SP09 51 209 309
C40-4D52-213SP09 52 213 313
C40-4D53-217SP09 53 217 317
C40-4D54-2215P09 54 221 321
C40-4D55-2255P09 55 225 325
40 70 SP__090408 | M3.5x8 | Ti5
C40-4D56-232SP09 56 232 334
C40-4D57-236SP09 57 236 338
C40-4D58-240SP09 58 240 342
C40-4D59-244SP09 59 244 346
C40-4D60-248SP09 60 248 350

= =
Specificiaﬁi%riﬂa?d model - AR s L Inz?eﬁ%giel Sifr?w V\ﬁieﬁ:h s’iﬁ
C20-5D16-83SP06 16 83 142
C20-5D16.5-865P06 16,5 | 20 | 86 | 44 | 145
C20-5D17-88SP06 17 88 147
C20-5D17.5-91SP06 17.5 91 162
C25-5D18-939SP06 18 93 164
C25-5D18.5-96SP06 18.5 96 167
C25-5D19-98SP06 19 98 169 e ME i ¥
C25-5D19.5-101SP06 195 | 25 | 101 | 56 | 172
C25-5D20-103SP06 20 103 174
C25-5D20.5-106SP06 20.5 106 177
C25-5D21-108SP06 21 108 179
C25-5D21.5-111SP06 21.5 111 182
C25-5D22-113SP07 22 113 184
C25-5D22.5-116SP07 225 116 187
C25-5D23-118SP07 23 118 192
C25-5D23.5-121SP07 235 | 25 | 121 | 56 | 195
C25-5D24-123SP07 24 123 197
C25-5D24.5-126SP07 24.5 126 200
C25-5D25-128SP07 25 128 202 R IrT0ee Wies=ms 8
C32-5D25.5-130SP07 25.5 130 213
C32-5D26-133SP07 26 133 216
C32-5D26.5-136SP07 26.5 | 32 | 136 | 60 | 218
C32-5D27-138SP07 27 138 219
C32-5D27.5-141SP07 275 141 221
C32-5D28-143SP09 28 143 223
C32-5D28.5-146SP09 28.5 146 226
C32-5D29-149SP09 29 149 230
C32-5D29.5-151SP09 295 151 233
32 60 SP__090408 M3.5x8 | Ti5
C32-5D30-154SP09 30 154 238
C€32-5D30.5-157SP09 30.5 157 241
C32-5D31-159SP09 31 159 243
C32-5D31.5-162SP09 315 162 245
C32-5D32-164SP09 32 164 248
C32-5D32.5-167SP09 32.5 167 251
32 50 SP__ 090408 M3.5x8 | Ti5
C32-5D33-169SP09 33 169 253
C32-5D33.5-172SP09 33.5 172 255




U%s (U-Drill) U%s (U-Drill)
I S PE! i% 7L #5/ U 5D SP tyge U-drill 5D Z ek 71 2 FLES/USE 2.25D Multi fanction U-drill 2.25D |
7 »
& e
% 41:% E (Drilling depth): 5xD
] |
QF_@L\ |:’_“"‘1~‘_I__\T‘ [T = ] g
\
L1 Ls
L
e
= = =
Specificiﬂt%?afdmodel E SRR e - Ingﬁ%cﬁiel Sifr?w Wﬂr%ﬁ:h Sj%oﬁ( Specific%%r%?dmodel g Aok ks L Inz?eﬁ%i‘iel sifr?w V\ﬁieﬁ:h s’iﬁ
@ ©32-5D34-174SP11 34 174 258 TCAP 08R/L-2.25DN 8 o |18, L 58 XCMT040104 M1.8*4
©32-5D34.5-177SP11 34,5 177 261 TCAP 10R/L-2.25DN 10 | 8.5 | 70 XCMT050204 M2.0'5 | 6
032_EDSE_1755P 11 35 179 263 TCAP 12R/L-2.25DN 2 | e | | 78 XCMT060204 M2.2*5
CB5-EDSE EoiBiSPL] THE == p— TCAP 14R/L-2.25DN 14 315 82 XCMT070304 M2.5"6 T8
@ T 26 184 268 TCAP 16R/L-2.25DN 16 | 20 | 36 | 50 | 92 XCMT080304 M3.0*8 | T10
C32-5D36.5-187SP11 36.5 187 271
€32-5D37-190SP11 a7 | 2 [190| *° [280
@ C32-5D37.5-193SP11 37.5 193 283 ShLslren Max10 P Uiﬁ (U D .”) @
C32-5D38-1955P11 38 195 285 =L
C32-5D38.5-198SP11 38.5 198 288
€32-5D39-200SP11 39 200 290
©32-5D39.5-2035P11 39.5 203 293
e C40-5D40-205SP1 1 40 205 305
C40-5D41-210SP11 41 210 310
C40-5D42-2155P14 42 215 315 Dr sl
C40-5D43-220SP14 43 220 320 ° [
C40-5D44-2255P14 44 225 325
C40-5D45-230SP14 45 | 40 | 230 | 70 | 330 L1
C40-5D46-2355P14 46 235 335 SP__140512 M5x11 | T20
C40-5D47-240SP14 47 240 340
M C40-5D48-2455P14 48 245 345 M
C40-5D49-250SP14 49 250 350
C40-5D50-2555P14 50 255 355 _ HgES D a | el ol @ RS BET | WF ER
Si0 ED51o5008R00 £ e P Specification and model Insert model Screw | Wrench |Stock
TCAP 08R/L-3.25DN 8 26 76 XCMT040104 M1.8*4
£40-5052-2655F00 s £ e TCAP 10R/L-3.25DN 10 | " a25 [ e0 XCMT050204 | M2.0*5 | T6
C40-5D53-270SP09 53 270 370 TCAP 12R/L-3.25DN 12 39 90 XCMT060204 M2.2*5
C40-5D54-2755P09 54 275 375 TCAP 14R/L-3.25DN 14 - 45.5 s 97 XCMTO070304 M2.5%6 T8
C40-5D55-280SP09 55 280 380 TCAP 16R/L-3.25DN 16 | 20 | 52 | 50 | 108 XCMT080304 M3.0°8 | T10
C40-5D56-285SP09 s6 | ‘° [285| "° [sss SR Lr0R08 MEswe) o
C40-5D57-290SP09 57 290 390
C40-5D58-2955P09 58 295 395
C40-5D59-300SP09 59 300 400
C40-5D60-305SP09 60 305 405




U#s (U-Drill)
WCE! % 7L 54/ UL /M FL 2 WC tyge U-drill Small Diameter

U%s (U-Drill)
ZIhEE 71 ZFLE5/UEL 2.5D Multi fanction U-drill 2.5D

WEES LES B | WF |ER NEES L By | BT |ER
Specification and model E 4 E ks - Insert model Screw | Wrench |Stock Specification and mode| g d L L8 L Insert model Screw | Wrench |Stock
SF-08R-2.5D-C16 8 20 i3 72 QCMT040104 M1.8%4 C20-2D10-22WC02 10 22 90
@ SF-10R-2.5D-C16 10 - 25 78 QCMT050204 M2.0"5 T6 G20-2D10.5-23WC02 10.5 23 91 @
SF-12R-2.5D-C16 12 30 45 87 QCMT060204 M2.2*5 C20-2D11-24WC02 11 24 92
SF-14R-2.5D-C16 14 35 92 QCMTO070304 M2.5%6 T8 C20-2D11.5-25WC02 11.5 25 93
20 50 WC__020104 M1.8%4 T6
@ SF-16R-2.5D-C20 16 20 40 50 102 QCMTO080304 M3.0*8 T10 C20-2D12-26WC02 12 26 94
C20-2D12.5-27WC02 12.5 27 95
C20-2D13-28WC02 13 28
C20-2D13.5-29WC02 13.5 29 96
&) U%S (U-Drill) &
A - - - -
ZI1gE 7 #F X FLE4/U%E 3.5D Multi fanction U-drill 3.5D —mREEe T Ta ol el L NEEE BT | BE |EA
Specification and model Insert model Screw | Wrench |Stock
C20-3D10-32WC02 10 32 101
C20-3D10.5-34WC02 10.5 34 103
C20-3D11-35WC02 11 35 104
. C20-3D11.5-37WC02 11.5 37 106
20 50 WC__020104 M1.874 T6
S| s G20-3D12-38WC02 12 38 107
= C20-3D12.5-40WCO02 12.5 40 109
C20-3D13-41WC02 13 41 110
C20-3D13.5-43WC02 13.5 43 112
C ARES == ey o NEEE ®iT | WF |EE
Specification and model Insert model Screw | Wrench |Stock
i— C20-4D10-42WC02 10 42 111 i —
C20-4D10.5-44WC02 10.5 44 113
AEES = e e ) NERE 251 | wmF [EE
Specification and model Insert model Screw | Wrench |Stock C20-4D11-46WC02 11 46 115
SF-08R-3.5D-C16 8 28 80 QCMT040104 M1.874 C20-4D11.5-48WC02 11.5 48 117
42 20 1 50 - E WC__020104 M1.8%4 T6
SF-10R-3.5D-C16 10 - 35 88 QCMTO050204 M2.0*5 T6 C20-4D12-50WC02 12 50 119
SF-12R-3.5D-C16 12 42 JE 98 QCMT060204 M2.2*5 C20-4D12.5-52WC02 12.5 52 121
SF-14R-3.5D-C186 14 49 106 QCMTO070304 M2.5"6 T8 C20-4D13-54WC02 13 54 123
SF-16R-3.5D-C20 16 20 56 50 118 QCMTO080304 M3.0°8 T10 C20-4D13.5-56WC02 13.5 56 125




U%s (U-Drill)
SOR X FLEL/UEL /MFLIE SO tyge U-drill Small Diameter

U#s (U-Drill)

T 2E O 5 3k = FLES 5D Spotting U-drill 5D

- HgES D d i1 [ is i NRES 5247 IRF | EF
Specification and model Insert model Screw | Wrench |Stock
C20-2D10-225004 10 22 91
C20-2D10.5-235004 10.5 23 92
C20-2D11-24S004 11 | 20 | 24 | 50 93 SO__040102 M1.8%4 T6
C20-2D11.5-255004 11.5 25 94
C20-2D12-26S004 12 26 95
B I =
Specific;amtqifriﬂa:d model D d L1 ] Ls L Inﬂﬁﬁfcﬁel S%r?w V\?rieﬁ:h s’%oﬁ
C20-3D10-325004 10 32 101
C20-3D10.5-345004 10.5 34 103
C20-3D11-355004 1 20 35 50 104 SO__ 040102 M1.8*4 T6
C20-3D11.5-375004 11.5 37 106
C20-3D12-385004 12 38 107
= 1] =
Specific?tﬁriﬂafd model L | | | ln?eﬁ%;el Sggr?w Wifie?ch §oﬁ
C20-4D10-425004 10 42 111
C20-4D10.5-44S004 10.5 44 113
C20-4D11-46S004 11 20 46 50 115 SO__040102 M1.8*4 T6
C20-4D11.5-485004 115 48 1147
C20-4D12-50S004 12 50 119

00 T “;f‘
T e
L1 . ..._
g -
-
1] = =
Specificﬁ%%ﬁd model D L1 L Ds L8 Ingﬁ%czel Sifr?w V\ﬁieih SEtcfk
VLT-21050D S25 21 | 105 | 186
VLT-22050D S25 Z2 RACH REIN [
VLT-23050D S25 23 | 115 | 196 WCMX030208 | M2.5%6
VLT-24050D S25 24 | 120 | 201
VLT-25050D S32 25
VLT-26050D S32 26 T8
VLT-27050D S32 27
150 | 240
VLT-28050D S32 28
WCMX040208 | M2.5*7D4
VLT-29050D S32 29 @
VLT-30050D S32 30
VLT-31050D S32 31
VLT-32050D S32 32
32 | 60
VLT-33050D S32 33 | 175 | 265
VLT-34050D S32 34
VLT-35050D S32 35
VLT-36050D S32 36 WCMX050308 | M3.0'8 | T10
VLT-37050D S32 a7
VLT-38050D S32 38 | 200 | 290
VLT-39050D S32 39
VLT-40050D S32 40




Usd (U-Drill) U#b (U-Drill)
T E i Eh Sk i® FL%h 8D Spotting U-drill 8D

HEOES L FFLES 6.5D Spotting U-drill 6.5D

MBES NRES Lo53) WFE |EF MBS NRES L44) wF |EF
Specification and model E L E 5 L8 Insert model Screw | Wrench |Stock Specification and mode| g ) e e L8 Insert model Screw | Wrench |Stock
VLT-210650D 525 21 137 | 218 VLT-21080D S25 21 168 | 247
VLT-220650D S25 22 143 | 224 5 g5 VLT-22080D S25 22 176 | 255 = iR
VLT-230650D S25 23 150 | 231 WCMX030208 M2.5"6 VLT-23080D S25 23 184 | 263 WCMX030208 M2.5%6
VLT-240650D S25 24 156 | 237 VLT-24080D S25 24 192 | 271
VLT-250650D S32 25 VLT-25080D S32 25
VLT-260650D S32 26 T8 VLT-26080D S32 26 T8
VLT-270650D S32 27 VLT-27080D S32 27
185 | 275 220 | 310
VLT-280650D S32 28 VLT-28080D S§32 28
WCMX040208 |M2.5*7D4 WCMX040208 M2.5*7D4
VLT-290650D S32 29 VLT-29080D S32 29 @
VLT-300650D S32 30 VLT-30080D S32 30
VLT-310650D S32 31 VLT-31080D S32 31
VLT-320650D S32 32 VLT-32080D S32 32
32 60 32 60
VLT-330650D S32 33 218 | 308 VLT-33080D S32 33 260 | 350
= VLT-340650D S32 34 VLT-34080D 832 34
VLT-350650D S32 35 VLT-35080D S32 35
VLT-360650D §32 36 WCMX050308 M3.0%8 T10 VLT-36080D S32 36 WCMX050308 M3.0*8 T10
VLT-370650D S32 37 VLT-37080D S32 37
VLT-380650D S32 38 250 | 340 VLT-38080D S32 38 300 | 390
VLT-390650D S32 39 VLT-39080D S32 39
VLT-400650D S32 40 VLT-40080D S32 40

 AEES o E & R 8k R
Specification and model Applicable drill bit type
PLD-V0630 TiN 6 30 | VLT, TSD,TMD
PLD-V0835 TiN 8 35 VLT, TSD,TMD
PLD-V1035 TiN-H 10 35 VMD,VLT,MXD, TSD,TMD
PLD-V1238 TiN-H 12 38 VMD,VLT,MXD, TSD, TMD
PLD-V1645 TiN-H 16 45 VMD,VLT,MXD,TSD,TMD
I PLD-2045 TiN-H 20 45 VMD,MXD
9 b= PLD-2556 TiN-H 25 | 56 | VMD,MXD
L PLD-3068 TiN-H 30 68 VMD,MXD




